R/

Connection module 223 DEIEE R

CM -R ZRIMEEHER AT

Faiss
- EASAIMERRYT, TRATEEEERRENHSR
RIF P2 RMUSIR[BMC/BML]

AR TR RIRIRISMP]
CM-RM525M5
CM-RM558M5 6
CM-RG1840G18 l ¢
CM-RG18128G18 < > e

| ‘ ’

S T L1 L2 &= Sc BiWRE Bt SEER ENRE IERE
[mm] [mm] [mm] [mm] [e] SMP  [mm] [mm] [°]

CM-RM525M5 3 12 25 395 11 M5 M10x1 500 = 6 +0.01 +0.01
CM-RM558M5 285 20 58 73 17 M5 M10x1 500 B 6 +0.01 +0.01
CM-RG1840G18 95 165 40 57 33 G1/8 M14x1 1500 & 6 +0.01 +0.01
CM-RG18128G18 59 47 128 145 58 G1/8 M14x1 1500 & 6 +0.01 +0.01

10 &R / Connection module (EZCAU« www.rochu.com



R/

Connection module 223 DEIEE R

CM -S FZMEmErRER RS

ARy _B‘E%im#ii*[BMC/BML]
BOHSARETBBREIRISMP]

F ﬂﬂ#tln\
BE&EEEThee, MNEFEEEEERREmE TMER

CM-S02 CM-S04 CM-S05
CM-S06 CM-S07
Lo
=2
T N0
X 11 |12 % —
g T |L1 L2
= Sc
=
S S
[ .
( (1
E
E
L2 =54 WikEh Ei&ﬁﬁ 1SHg WEEF iELLFF EEEFF
[mm] mm] [mm] [mm] | [g] [N] [e]] SMP | [mm] [mm] [°]
CM-S01 110 384 G1/8 M14x1 0~10 800 6 +0.5 +3
CM-S02 36 50 128 145 454 G1/8 M14x1 0~10 800 &5 6 +0.5 +3
CM-S04 105 23 585 739 28 M5 M10x1 0-~3 300 =2 6 +0.5 +3
CM-sos5 20 51 96 1114 43 M5 M10x1 0~3 200 =2 6 +0.5 +3
CM-So6 30 51 106 1214 50 M5 M10x1 0~3 200 2 6 +0.5 +3
CM-so7 40 77 142 1574 56 M5 M10x1 0~3 200 =2 6 +0.5 +3

11 ik / Connection module www.rochu.com



